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𝐴𝐹 =
(
|𝑟𝑚1 − 𝑝𝑠ℎ𝑐𝑝1|

𝑝𝑠ℎ𝑐𝑝1
+

|𝑟𝑚2 − 𝑝𝑠ℎ𝑐𝑝2|
𝑝𝑠ℎ𝑐𝑝2

+ ⋯ +
|𝑟𝑚𝑛 − 𝑝𝑠ℎ𝑐𝑝𝑛|

𝑝𝑠ℎ𝑐𝑝𝑛
)

𝑛



http://www.transparenciapresupuestaria.gob.mx/work/models/PTP/Entidades_Federativas/Indicador/Nota_Metodologica.pdf


 

AF =
(
|0 −  39,110,746|

39,110,746 +
|26,000,000 − 26,000,000|

26,000,000 + ⋯ +
|0 − 61,039,628|

61,039,628 )

54

http://www.hacienda.gob.mx/Paginas/default.aspx




http://www.transparenciapresupuestaria.gob.mx/es/PTP/Datos_Abiertos




 

 

 

 



 

 

 

 



 

 



 

http://www.transparenciapresupuestaria.gob.mx/es/PTP/Formato_Unico

